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NO (K4 &R R 2 A 1st| 2st total rank
1B/l = |/MEZ  |=5uD 518 2 00:38.39 00:38.39 1
I BE ER |/MEX  |[EHEN iR 3 00:43.46 00:43.46 2
2)1#Hy EF  |/MEXR [LED 518 3 00:43.68 00:43.68 3
43RIB Eh |/MEX BRI 1R 1 00:46.77 00:46.77 4
8l/hig —%& |/'MER (B EiR 3 00:32.63 00:32.63 1
5fERAK B3 |[/MEB  |[dAR/D 1R 2 00:41.51 00:41.51 2
6|7TH =& [/MEB K& BiR 1 DQ(23)
7[R R} [/MER  |FFN ER 3 DQ(11)
9
10
12| KE EXR |hax  [=FHD |BR 6 00:35.75 00:35.75 1
14|1FR D A= I 2\ 1R 4 00:35.87 00:35.87 2
15|RR & =% S VAN I\ 1R 5 00:35.95 00:35.95 3
16|= FE  |/bEx [N BiR 5 00:36.13 00:36.13 4
13|71 #E |/hEx |[EF/ND BiR 4 00:36.27 00:36.27 5
17|k S#RE |hEx  [E8|ERD W0 5 00:37.64 00:37.64 6
18| B2%1 #B INaxZ  |EED BiR 4 00:45.69 00:45.69 7
19|]|1l & ek  |EZEND EiR 4 00:46.40 00:46.40 8
1"|fElE t2 |hax |[EF/D 1R 5 DS
203 #A INEZ (B /NS 5 DS
2(ELRKR EX[DMEE  |mARDb 1R 6 00:27.15 00:27.15 1
BIMAK HE [MEF |EFED L& 6 00:27.94 00:27.94 2
2B(BERE KH#E [WhEF NI BiR 6 00:32.95 00:32.95 3
23y FE |hEB  |deED BiR 6 00:33.71 00:33.71 4
251 EXE |/hER SR/ |BIR 5 00:34.04 00:34.04 5
24\EHT AEE |/MNERE |FEHD BiR 4 00:36.19 00:36.19 6
21|F0AF R&E /NGB kBN 1R 4 00:36.49 00:36.49 7
31(EBH ER [WNEE |ERD IN=S 4 00:36.85 00:36.85 8
J7[RE & MBS Ll 6 00:37.05 00:37.05 9
33| NGB |IRIEND BiR 5 00:37.65 00:37.65 10
JUlELKR BE|[IMEE |BARD 1R 5 00:37.86 00:37.86 11
3B T [MEF  |ABEHN (SR 5 00:39.14 00:39.14 12
26|F5R wBE [hE5B | Kb BiR 5 00:39.36 00:39.36 13
0(FE X [hEE |EFEhS 1R 4 00:39.49 00:39.49 14
271Nk ®/x [hEE |EED BiR 4 00:42.37 00:42.37 15
9(8E BE [hEF |EFEDS 1R 4 00:43.90 00:43.90 16
32|p= & MaEB (& BiR 4 00:45.84 00:45.84 17
36(FH L BB NGB |\ L5 4 DQ(20)
39
HO(EBN X8 |(dx % BiR 3 00:25.74 00:25.74 1
3|BR FEARE |hEK = Erh L5 2 00:27.46 00:27.46 2
4M|(XIB FHE [dx = Erh L5 3 00:28.00 00:28.00 3
44 BRT TR |Bh% FEHEG 1R 1 00:29.37 00:29.37 4
42|1H ENF |hxk ZEX—h |BIR 1 00:29.69 00:29.69 5
46|1U%E =MW |Px HR% BiR 1 00:31.61 00:31.61 6
47[ER KR BE [dx S 1R 1 00:33.60 00:33.60 7
45|fHIR i %z REH 1R 3 DS
48




50[7k% K 5 =it IN= 3 00:26.09 00:26.09 1
54(giTEA 1% t 5 A IN= 2 00:27.64 00:27.64 2
57(fnA &R [+ 5 ey EiR 1 00:28.07 00:28.07 3
58(JIl £ ith |3 EL 518 1 00:28.52 00:28.52 4
55|=I1L B |hB EHt 518 1 00:29.15 00:29.15 5
51|IRAZ K 8 =71B% |BR 2 00:29.51 00:29.51 6
53| =IURE t 5 ey EiR 3 00:31.69 00:31.69 7
60| KE ZH |F5B = (SR 1 00:32.51 00:32.51 8
64(fIz K&t [+ 5 EL 1R 1 00:36.14 00:36.14 9
61\F20F MESL |5 HEE G 1R 1 01:06.95 01:06.95 10
52| £ 5 s L5 2 DQ(23)
59(f8 BRABA |[HE EXMt |BiR 1 DQ(17)
62(ILIR &N [+ E wI—d¢ (B 1 DQ(17)
65R1E FZF |FEB EARF (SR 1 DQ(17)
49|FERED 5 ot BiR 3 DS
56(4T & 5 teFndh L5 3 DS
63[fEMA XF |5 friogeates] BiR 1 DS
66
69[FA MhA |BX LEBEE (LS 1 00:26.63 00:26.63 1
(EFE BRE |B% Mete=n |58 1 00:26.84 00:26.84 2
67| LH # Ex MEtE=n |55 3 00:27.20 00:27.20
0[FER ¥ |Bx BEHEENS [EW 1 DQ(18)
68| AR FEI |BX W BiR 1 DS
72
TARZK BE &R MEtE=n |55 3 00:22.36 00:22.36 1
73|FNERZE =5 s BiR 1 00:24.90 00:24.90 2
16|EH =E BB Mete=n |58 1 00:26.26 00:26.26
75| ERISRAR |&5 HES BiR 1 DS
77\EE BB |a38 wWis 1R 2 DS
18|FAE =5 W 1R 1 DS
|/NME FB |BE W 1R 1 DS
80
82|HH ¥ —fREC |HESC ER 49 00:28.66 00:28.66 1
83|/KE It —f#%BCc |=dEH (LB 44 00:29.04 00:29.04 2
81[IkA {82 |[—HFEC |=JIESC (518 53 00:30.74 00:30.74 3
84k KA —f#kBC |=#SC EiR 36 00:34.65 00:34.65 4
86(FA il [—HFBA |EHIL BiR 00:24.16 00:24.16 1
3| @R #HA |E5I D=7 LER| 67 00:30.73 00:30.73 1
7| EE HA (Z5) D=7 LR | 53 00:30.85 00:30.85 2
8| MHE &R |E5| D=7 LR | 52 00:31.03 00:31.03 3
1 e B | ZEsl D=7 BHRE| 73 00:33.74 00:33.74 4
4 WE B [Z5] D=7 ERE | 67 00:33.79 00:33.79 5
6| €8 1E&E |Z5| =7 ERE [ 60 00:36.15 00:36.15 6

&E ZE | Es D=7 LER| 74 DS

Z2H & |Z5| D=7 LER| 68 DS
2| WA XA |Esl D=7 LER| 68 DS

EW OEE B D=7 LER| 68 DS

= e |5l =7 SEE| 67 DS

=iE EZE |Es5l =7 LER| 60 DS
5| LA 5hX |E5| =7 ERE | 60 DS

BEA ¥ [Z5 =7 ERE| 59 DS

WA B |ZE35] =7 @IS [ 50 DS




